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1 100kN/m#E#BZ % — -~ — —|3mEEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3m%EEZD -~ — — —
Th s 1.00| 0.00 ~ 473 5890 | #hllst | 000 ~ 473 | 1.80 9.11 Th s 1.00| 500 ~ 5.00 5890 | #hLl4t | 500 ~ 500 | 1.80 9.11
2 100kN/m#E#BZ % 1.00| 0.00 ~ 1.27 119.29 |3m%EFREZ S -~ — — —| 100kN/m%#8%%| 1.00 [11.31 ~ 16.70 119.29 |3m%EFREZ S -~ - — —
Th s 1.00 ]| 1.27 ~ 9.06 100.00 | £hList | 000 ~ 9.06 | 2.19 11.06 zh s 1.00| 5.00 ~ 11.31 100.00 | £h st | 500 ~ 16.70 | 2.19 11.06
3 100kN/m#E#BZ % 1.00| 0.00 ~ 1.67 125.58 |3m&EF{EZ S -~ — — —| 100kN/m%#%%| 1.00 (1061 ~ 16.79 125.58 |3m&EFHEZ S -~ - — —
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Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/m%E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
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